Errata for
Introduction to Partial Differential Equations
with MATLAB

page line correction

56 b7 equation reference should be (2.34).
64 t12  all constants o > 0

75 bl3  F(z,t) = —kug(z,1).

80 t3 maxr,,, [u(z,t) — e(kt + 2*/2)].

8  bl0  [S(y,t)dy=1.

87 t1 S(x —y,t), as y — too.

120 t8 0, 3L/4<z< L.

125  t15  In example (1), pay special attention to the behavior at
z =0 and at z = 7. In example (2), at z = 7/4, 37 /4.

L
131 b8 — Jfw"zdr = (—w'z + w2')| — [Fw2"dx
0

142 th q(t, z) should be ¢(z,1).

143 b2 dz should be ds.

144 t2 u(0,t) = u(L,t) = 0.

150  t2 Consider the IBVP (4.41) with f(x) = 0, boundary conditions

150 b9 U(z) = Az + Bx + C; find the coefficients A, B, C.
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bll  ¢(z) = 3:+L)\//\/kl] for z < 0,
o(x) = ysin[(x — L)/ A/k,] forz >0

b2 (In an ideal gas, P(p) = Ap?,~v > 1. For air, v = 1.4).
b12 = Aypl™!

bl ~(To + eTgug)i+ ...

bl2 ¢ =/T§/po-

t13 Uz, Should be u,.

t2 (1/2)[f(z+ct) + f(x —ct) — f(ct —x)] =

b6 Tn=...=(=2/nm)(-1)".

bb In the right-hand side, u;,—; should be u;_; .
t9 L/2 < |z| < L.

2 1<k<N/2

b2 when N < N,.

t1 f"(y) should be f"(z).

b2 ¢"(x) should be ¢ (x).

b5 E? = ?p? + ¢*'m?.

b5 mo /1 — o?

U1 —€2/(4) = — (e + )€
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£11
t8
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t6
t13
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b10
t15
bh12
t8

£3, t4
b3

t7

b8

G(€) =...=2ml e V&£

Jrlei(@)? de = 2m

[ Jo(—Au)v dzdy = — [y v Ou/On ds + . ..

37 (1, 0) = 2(r, 8) = 0

d'(0) = '(B) = 0.

light cone {(x,1) : |x| < ¢t — a} for ct > a.

Consider the IVP uy; — Au =0 in R®* x R. (You should take ¢ = 1).
(1/2)(d/dt) [ [olu? + A|Vu|?] dedy = 2 [y ur Ou/On ds.
A [ hu? ds

y(x,y)>1on|x—y|=c¢.

A={ueC[0,1] : u(0) = u(1) = 1}.

[ u(z, t)dz should be [ u(x,t)dz.

delete a from denominator

> A, sin(nmf/ (2a) )rm/ (20)

the factor x.*exp(-sin(x)).

z = exp(-(x.72 -y."2)./(4%t)) ./ (4*pi*t)



